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JEWEL HUB
RING SIZER

Before printing, set the page scalling to "none" on your print dialog box.

Print on standard B1/2x lL size paper (A4)

Measure below scale measurement with actual (Physical) scale for checking the accuracy of this Ring Sizer

Inches 0 1 4 5 Inches

How To Measure Your Ring Size

First take your ring that is not too tight or not too loose.

Place the ring on the below Ring Sizes io find your ring size.

Ring Sizes

Once you find your ring size in millimeters
match it to our ring size number below. if your
ring is between two siz&s, order the lar:Eer size.
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Ring Size Chart
You can measure the size of your ring by using a thread and a scale to determine the diameter/circumference

of your ring size by using following size chart.
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